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1. FHARKERIN BERA B TLREN
SHHL & 3K 30K o /B K UM FRHE R

R

v 49 . 3.1416, sin(—-—-;-—n). logs16, VvV 3

cost, 7, gV 10 . ¥V -16. 0.1010010001---,

180,01, -cos30° —:lg—, ~ =16

.

B REROE, tg——x, -3l

OOS(’ "J; )\ Ct590°\ 1/-‘4—9_\ 3-1416‘ Sin(——%-n)‘

log,16, v/ 3 , cosm, 7, lg¥/ 10 4

0.1010010001-, 1g0.01, cos30°, —%— Y T1¢.

RABYNIH, —3—%~,- cOS(-—%-)\ ctg90°,

V' 49, 3.1416, loggl6, cosw, 1g¥ 10 +

1
1g0.01, 3



75'_-‘"‘;‘?'-’:' Wi otg90”, v/ (o, coam, 1g0.01,

RS HUNRRBU S R, 5 -l

2
¥ —16. 120.01, cosn, tg»g—-»n" ctg90°,
0.1010010001-+, 1g% [0, cos( - 23—},
cos30°, Sill(‘—;——ﬂ)‘ fog,16, V“?;—,

T, 3.1416, Vv 49 .
2' ”’ﬁ: (1) (408—3-7): _V—ZYX
(5—1~:~5)><(————é5~);
(2) {0.027) "+ 4+ (0. 17" +
- 1
- 4y . 1
(-3)") -3 }x(2-—~3 )
sttt (-8
. (1) BEX=1.21+3x% 5 X «————8 )
=1,21-9
= -7.79.
p o |10 1 7
(2) %!xl:—f-3~+[10+1] : ;x :
at 7
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3. Ma=-0.2, b=0.50f, Rla%+ab? +
(a*b~ab®) - (|a%| - |ab?|)Ry1H.
f: Uath=(-0.2)%(0.5=0.02,
abi=(-0.,2)-(0.5)%= - 0,05,
St + ab| + (2% - ab?) - (]a%B| ~ |ab?])
=10.02~0.05] + (0,02 + 0.05) - (0.02-0.05)
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100 °
4. MHAR: (1) |x-4]+1x-1]=5;
(2) ly+1]+lx-~2]+3=90,

. (1) |x—4]+|x-1]=5.
QYx> dFERY. x-4+x-1=5, Wx=5;
@3—51'\<‘x<43‘“ﬁﬁﬁfh d-x+x-1=5, £#¥;
CUrx<I1HEHBH: 4-x+1-%=5, x=0.
BURFENMA y=58x=0.

(2) |lx+1]+}x-2l+3=0.

=16

AR BRI, A

| x+1 |>o,

|x~-2]>0,
B85 [x+1 ] x-2 | Ree@at ko, F
vkl fx+1]+|x=-2]+3>0,
Bt I

[x+1]+|x-2]|+3=0
T,
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W (1) Iﬁi"‘==(x'”)z+2(x'")~—-14——+ .——)

5. SR TFH &R K.

1 1

(1) xz"'+—--§-—x +—-—1E‘) (2) x64 xd*‘NZS ,
(3) x*+x*—2ax+1-a’
(4) (FP*+x+1)(P+x+2) - 103 -

(5) bet+a’c +ab*—a'h—ac® - b'cs

(6) x°+4x°—5; (7)) 2> +x+430;
(8) x*+2xy-8y°+2x+14y~33

(9) x*—8xy+15y*+2x-4y—3;

(10) 242 +xy—-3y°—x—4y—1.

1
4

).
(2) BR=2+ 2+ D=2"(x'+24°+1-2")
=2 (2 rx+1)(a*-g+1)s '
(3) ER=n'+22"+1~2"—20ax~2a®
=+ 1)E- (x+a)’
=(x2+x+tat+D(x—x%x-a+1); .
(4) BERX=G2+0)+3(x*+x)-10 -
=R+ 5+ 2) (5 1)s
(5) JER = (ab® - a®b) — (c*a - c?b) + (ca® - cb?)
C=abb-a) ~ca—b) +cla+b)(a~- by
=—(a-b)l?~c(a+b)+ab)
=(a=b)(b~c)(c—a);
(6) BER=x"-4"+5x"-5=+"(3-1)
+5(x+1)(x-1)




=(x-1)(x*+5x+5);

(7)) B =x"+27T +x+3
=(x+3)(#*-33+9) +(x+3)
=(x +3)(x" - 3x+10);

(8) B =(r+4v)(x-2y) +2¥+14y-3.

ik REXSBAI G4y +m)(x-2y+a),

v g

£+ 28y~ 8yt (m+mdxt+ (4n-—2m)y - 34K % WAH

HHky, WE

mt+n =2,
g4u—2m$14.
7 n=3,
m=1.
G2y -8y 20+ 14y -3=(r+4y-1Xx -2y +3).

R R FHRL,

(x +4V) . 1
(x-2¥)/ ™ +3

SO BRR=Grdy-1D(x-2y+3),

(9) x*~8xy+15y*+2x—4y—3

B BEX=0-5y)(x-3y) +2x-4y-3

=(x-5y+3x-3y-1).

(10) 22+ xy-3y°-x—-4y—1.

. EX=0Crx+3) (- ) ~x—4y-1

=2x+3y+D{(x-v-1).

6. LB TH&EA.

(1) £-210  a-2b _ a*-5ab+6
a+2b a*+3ahb+90° . a*+2ab




%

at=(b-c)? n -(c-a): | ¢*-(a-b)?

(2 (a+c)?— b (@a+b)?-¢*  (bt+to)'-at
1 1 1
(3) (yz+zx+xy)< 5 + z)
1 -1
—xyz(xz t ;2 + 22 >3

_ 1-3x+x 1 ]
(4)[3x+(x 1)2 -1 x —1

W 1- 2x + %%~ 2%°
it oxtoaivat

i 2__p2 u
(5) E gyt (- Bt )
a-b a-b

~ @+ @+DV al-b 3

b+ec\ 1 c+a\ 1 a+by 1
(6) (xc_“}“'b .(x“*b}b—c .(xb—c}c—a;

7 V4a2—124+9 “V 1+ da+ 44’ (,,<__;_)’

(8) V' a+tb+2V ab *V a+b-2V ab

(0<<a<b) .
_ (@—3b) (&% + 3ab+ 9b%) a-2b .
(1 FA= a+2b X Wy 3ab+ 90
a(a +2b) —a,

X

(a—2b) (@ - 3b)

- (a~b+c)(a+'b*c)
(2) B @I bTOa=br0)




(—arbro)a+rb-o)

@+ hroy@arb-0)

(a-b+cy(-a+bte)
(@rbro)(-atb+o)

_atb-c  —arbrc  a-btc
at+btc at+tb+e at+b+tc
a+b+c

=- e = 1 .
at+b+tc

(3) KA = (yz+z2x+vy) (yﬂ%g—{L)

_xya (¥R X+ xtyh)
xzyzzz

_(yzraxray)t  yt e xlt e APyt

£yz xyz

=x—;’;(2xyzz +2xy%2 +22°2y)

=2(x+y+2).

(1) BR=—l (=D - (- 324 )

sy . (1+x)(1~2x)
(*+x+ 1)) + (x+ 1)+ x+1)
-(*+1) (FPHx+D(x+1)
£ -1 +1)(1-2x)

£ +1

(x-1D(2c-1)

|l




(a*-20%) (> =) T+ (e* - b))+

(5) = P
(a® + %) (@ — b*) (8 - b))+
a-—b
=r(a2_b2)—§—(a4_b4__a4+b4)
a-b
=0.
bte ,_1 ,a8tec , 1 ,atdb 1

(6) ﬁ:i=xc—a a~b a—-b b-c b-c c—a

.o bte 1 ate | 1 at+b | 1
c—a a->b a-b5 b—¢ b—¢ c—a

_ 1
T @G- -a)

+(@a+b)(a—-b)I=0

Wo+c)(h—c)+ (a+c)(c—a)

-‘t Eﬁ:'l- .
(7)) BR=v(2s-3) =~V (1+2a)*
Voe<-— AV BE=—2a-3),

V(a+2a)3=-{1+28),

o V4a'-12a+9 —V 1t+4a+4a® = 4.
(8) FR=vVVar'+ Vo): +2V ab
VW)t (Vp)i- 2V ab
=V a V5 (Wa-Vor

=V (a-0)?
=b —a.




e iFE A )
(1) (2 ;) Foioaee (2 %’2‘)

(2) *lngzlogz\/‘/;/?,

(3) Jgvar +1g8-1gv 1000

1g1.2

>
O 1 %;11;53_— 1
_.4—]g16 +/(Igl - 1g10)* >

®. (1) IER=<%5—)% 100+ (84 ) +

27
5 9
=—2_ +100+ - —
7 t100+
11

(2) BA=-log,log,2 8 =3.
Ig27% +1g8 - 11000 &

(3 BA== 1y Tg 10
3 3
=5 TgB r3lgr -
T ig3+aig2-1-
_ 3
2 .
(4) Fid= _______]0‘2 Hg’;

Ig2+1 +-<‘>J ~2)



~_lg2+lgd
lg2+1g3
=1, )
8. B, 21g(x-2y)=1gx+lgy, Ry yH{H.
. mEAWE (x-29)=xy,

Bp %= 5xy+4y*=0,
pooEt X=4y, x=y.
v xiy=4dmx: y=1,

9. mBHAEEM, n*-3m+m4) - [((5m+6)7+4)

£ (1) 8 (2) dif¥s (3) ET=,

. B EMEm - 3m— 4+ (m®—5m—6)i. @

(1) ZHm’-5m-6=08F, @ RMEHLHK . m=6,
Bmm=—1;

(2) Ym’-3m~4=0Hm*-5m-6+08, O W
KB E, Som=4y

(3) Hm*-3m-4= Oﬂm-Sm -6=08, O M
A, Lm=-1, :

10. RUEHM=ARKEER,

(1) 2-1; (2) —3+44s (3) sin54° +4cos54°;

(4) cos%:r—isin 4 F AR ' ~

R (1) r=vT(=DIF =V 2,

——_-—1—-_—_ i =—]-£-= ® 3
cosf = v 2 , Sing % 9’ --0#133@%—4—” .

9
¢ —-1=v 2 (cos Z n+isin—13—-—ir);

10




(2) JR1B5(cos126°52" +isin126°52");
(3) fR18cos36° +15in36°;

(4) @ cos—g~ T+ isin —-g~7t.
1. B8z ~-2=v 11 Bi=12-3], RE¥-.

4. War=a+bi, th E5m A 13
V@I =V V@S5t i~

12 REVFEMBARNYV 2 -V 2 7 MR,
fie. BIREEBR RV 2 -v 2 i,
V72 -vT2 il=vW 2y v (Vi =2.

13. #x + —}E——= 2cos8, KR x”+ ~£r=2cosmo.

m %3 .
fit: BEmMAIE 2° - 2xcosh +1=0.
R Rs x=cosf * ¢ sing.

Hx RANEREHB
.. 1
+ ”t
) (cosf + zsinf)™ + (cos@ + 75in@) ™
. - 1
- . + S S
) (cosm@ + isinm@) + cosm@ + 1s.nnl

=cosmB * 1sinml + (cosmb F 1sinm0)

=2C0smf,

4. MTREFR:

1



r+1 ¥x-1 _ 10
e R R N
: 1 4x 2
2 =1+
2> x+2 +x“~4 1 x—?.’
4%+ 2x % +6 _
(3) P o T % 3=0;

(4) (¥+3x+4)(¥*+3x+5)=6;
(5) (v+Dx+2)(x+3)(x+4)=24;
(6) 24°—3x*—3x+2=0s

(7) £ +4x - 4x-16=03

(8) x*+x+2=04

(9) (FP+x+1D)(F+x+2)-12=0;
(10) (2% -3%+1)*=224*-33x+ 13

an Viiis =vV5+v5s

3x—-2 + x-1 10

D VST I Vizms =3

(13) V3x+1 +Vix—-3 - V5x+4 =0y

(14) 3x2-6x—2V xi—2x+4 +4=0;

(15) 81 x6¥=16x%3"*8x 27,
(16) 5'*tex — 5l ter =2y, _ :
A7) a~a*sa®------ & '=b (a>0, a#1, >0, xR
ERED; '
(18) 1g(2x*-5x+2) +1g(3x*+x~-2)
~1g(x*~x-2)=0;

-
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1 2
¢ + =1
am 5-lgx 1+1gx ’

20) 2 log.25-3 log.,x=13

. (1) FRFAEARU G -1 H
I+ 1D+ (x—1DI=10(x"-1).

i r=*2.

Lok SABE ) ¥ =2 RFEFEMR.

(2) HREWHFERUS - 453
x-2+4x=x"—-4+2(x+2),

Bp A —3x+2=0.

w13 ¥=2 ¥ =1.

RRnT s x =2, »=1RBEFEMNR,

(3> @y =2E1E mEyEy

1—=
2y+y 3=0,

FihEYB  2y'-3y+1=0.

e 1 y=—mY=1.
2xt+x 1

it “+6 2’

1 p= 12V 19

3

2%+ x

fitt bt

ﬂ} x=-3, EEV=2.
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